Virginia High School League District Competition, 2000-01 season

Match #10


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
It is the partially decomposed remains of plants that accumulate, and are preserved in waterlogged conditions, especially in cold, humid climates. What is this commonly used fuel in Ireland and Russia most often found in bogs and the precursor to coal?

ANSWER: PEAT
2.
In the background, a woman seems to be picking something up. Two men are sitting down on the ground, and a picnic seems to lie half-eaten in the very front. The sticking point, and the piece that got 19th-century French crowds livid, was the naked woman sitting to the left of the two men. What is this painting by Edouard Manet, named for the activity and the location of the action in the painting?

ANSWER: LUNCHEON ON THE GRASS or le DEJUNER SUR L’HERBE (day-ZHOO-nay siur LERB)

3.
THIS IS A COMPUTATION QUESTION. A pentagon consists of a four-inch square with an isosceles triangle with three-inch legs on top of it. What is the area, in square inches, of the pentagon?

ANSWER: 16 + 2 SQUARE ROOTS OF 5
First period (continued)

4.
The Lantern Wastes to the west of this ficticious country were a site of outlaw activity, and Cair Paravel is its capital. Countries that bordered it include Archenland and Calormen. What is this country, over which Peter, Susan, Edmund and Lucy reigned for many years, and where Aslan was the son of the Emperor-Over-Sea?

ANSWER: NARNIA
5.
Francis Scott Key was watching the bombardment of what fort while writing the Star-Spangled Banner?

ANSWER: Fort McHENRY
6.
Michelangelo designed their blue, yellow and red uniforms, which remain in use today. They were first recruited by Julius II after their nation’s infantry had defeated the Burgundian cavalry in 1476. After the unification of Italy, they remained a mostly ceremonial body. What is this name given to the police force of the Vatican?

ANSWER: SWISS GUARDS
7.
The Bourgeois Gentleman, The Imaginary Invalid, The Misanthrope, and Tartuffe are plays by what French playwright?

ANSWER: Jean Baptiste Poquelin de MOLIERE
8.
THIS IS A COMPUTATION QUESTION. 20 ounces of a 5% acid solution are mixed with 60 ounces of a more dilute, 1%, solution. How many ounces of acid are in the combined solution?

ANSWER: 1.60 ounces (20 * 5% = 1 and 60 * 1% = .60)

9.
What is the name given to the study of light and of instruments using light, today frequently appearing after “fiber?”

ANSWER: OPTICS
10.
Henry II’s wish to be rid of what “turbulent priest” caused four of his henchmen to murder what famous Archbishop of Canterbury, whose grave was the site to which Chaucer’s pilgrims were traveling to in the Canterbury Tales?

ANSWER: St. THOMAS A BECKET

First period (continued)

11.
In a bizarre twist, he asked a Colorado judge to stop all appeals and have the state of Colorado execute him as soon as possible. Who is this man, convicted of masterminding the Oklahoma City bombing?

ANSWER: Timothy McVEIGH
12.
The Pendleton Civil Service Act brought an end to what system where all civil service jobs would go to members of the winning party after a Presidential election?

ANSWER: SPOILS system

13.
What second-century A.D. Greek historian wrote biographies of famous Greeks and Romans, calling his work Parallel Lives?

ANSWER: PLUTARCH
14.
What is the measure of the angle opposite the 1 inch side of a right triangle if the hypotenuse of the triangle is the square root of three inches?

ANSWER: 30 degrees or PI/6 radians

15.
A mouse is 21 days. A cat is 62 days. An elephant is 640 days. A human is 266 days. These are the lengths of what process for the animals previously named? 

ANSWER: GESTATION period or PREGNANCY
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.

1A.
What is the letter given to a curve that increases slowly at first, but then increases very rapidly after a certain point in time?

ANSWER: J curve

1B.
What DNA base is usually paired with cytosine?

ANSWER: GUANINE

2A.
What term is given to the noun to which a pronoun is referring?

ANSWER: ANTECEDENT
2B.
Over the past two seasons, who has been the quarterback for the Virginia Tech Hokies?

ANSWER: Michael VICK
3A.
What is the complement of an angle of 34 degrees?

ANSWER: 56 degrees

3B.
What is the “invented” word used to describe the economic conditions of the 1970s, with high inflation and low economic growth – a mixture of the words stagnation and inflation?

ANSWER: STAGFLATION
4A.
Menelaus (meh-neh-LAY-us) was the commander of the Greek forces arrayed against what city?

ANSWER: TROY
4B.
What play by Lorraine Hansberry focuses on the trials of the Younger family as they get $10,000 of life insurance money?

ANSWER: A RAISIN IN THE SUN
5A.
What is the better-known name of the tympanic membrane?

ANSWER: EARDRUM

Second period (continued)

5B.
What nine-letter word is used to describe a theorem whose proof is trivial once an original proof is completed?

ANSWER: COROLLARY 

6A.
In what 1803 case did the Supreme Court grant itself the right of judicial review, or the ability to declare laws unconstitutional?

ANSWER: MARBURY V. MADISON
6B.
Who discovered penecillin?

ANSWER: Sir Alexander FLEMING
7A.
Who is the creator of the character, Bartleby the Scrivener?

ANSWER: Herman MELVILLE
7B.
Who is the French painter best known for his painting, Au Moulin (moo-LAN) Rouge (ROOZH)?

ANSWER: Henri de TOULOUSE-LAUTREC
8A.
What is the first positive value for which the tangent is undefined?

ANSWER: PI/2 radians or 90 degrees

8B.
First elected in 1613 after the Time of Troubles with Mikhail as its first ruler, it ended with the abdication of Nicholas II in 1918. What was this dynasty, the last of the Russian royal dynasties?

ANSWER: ROMANOV
9A.
What South Dakota Democrat is the current minority leader of the Senate?

ANSWER: Tom DASCHLE
9B.
What form of poetry is always 14 lines long and has two rhyme schemes: Italian and Shakespearean?

ANSWER: SONNET
Second period (continued)

10A.
What is the term given to a material or covering which prevents the transmission of electricity, heat or sound, such as rubber with electricity and fiberglass with heat?

ANSWER: INSULATION

10B.
THIS IS A COMPUTATION QUESTION. If the two side angles of an isosceles triangle are 47 degrees, what is the measure of the peak angle?

ANSWER: 86 degrees

Third period: 15 toss-ups

1.
Berry Gordy founded this record company in 1959, with early hits from Mary Wells, the Marvelettes and the Miracles. What is this record company who also recorded Junior Walker, Marvin Gaye, the Supremes and the Temptations?

ANSWER: MOTOWN
2.
The first-century Chinese knew the connection between sweet food and this disease. Type I sufferers are born with this disease, while Type II sufferers acquire it later in life. What is this disease where the pancreas produces insufficient amounts of insulin?

ANSWER: DIABETES mellitus

3.
Large palaces at Knossos (kuh-NOH-sohs) indicate a highly-advanced culture. However, this culture abruptly disappeared around 1450 BC; earthquakes and invading Mycenaeans are thought to be the causes. What is this civilization named for an ancient king of Crete?

ANSWER: MINOAN
4.
In reviewing a Katharine Hepburn film, she said “Miss Hepburn runs the gamut of emotions from A to B.” She also said upon Calvin Coolidge’s death, “How could they tell?” Who is this humorist, a member of the Algonquin Round Table of the 1920s?

ANSWER: Dorothy PARKER
5.
What is the term in plane geometry to describe two non-parallel lines that are not on the same plane, and never intersect?

ANSWER: SKEW
6.
This breed of horse is the strongest of all horses, capable of pulling twice its own weight. It was bred on the islands for which it is named, and was well suited, due to its stockiness and size for the mountainous cold climate of the region. What is this horse, the smallest of all horses?

ANSWER: SHETLAND pony

Third period (continued)

7.
It was established in 1913, replacing the Independent Treasury System, which dated to the 1840s. In addition to handling the functions of a central bank, it manages check clearance for member banks. What is this institution, which divides the US into 12 districts and is the chief regulator of the money supply?

ANSWER: FEDERAL RESERVE SYSTEM or the FED
8.
The Thane of Glames (GLOMZ), Thane of Cawdor and King of Scotland were the three titles held by what Shakespeare title character?

ANSWER: MacBETH

9.
THIS IS A COMPUTATION QUESTION. A rancher wants to fence off his two square pastures, the smaller of which shares an entire side with the larger. The larger is 3000 feet on each side, the smaller is only 2000 feet square feet on each side. How much fencing will the rancher need?

ANSWER: 18,000 feet of fencing

10.
Her pictures, such as Catching the Thanksgiving Turkey, were mostly country scenes from her childhood, painted from memory. Who is this woman that only took up painting at age 75 when arthritis forced her to put her needle away, and eventually lived to be 100?

ANSWER: Grandma MOSES
11.
What element’s chemical symbol is the single letter V?

ANSWER: VANADIUM 

12.
Isaac Newton and what other mathematician are generally credited with the discovery of differential calculus?

ANSWER: Gottfried LEIBNIZ
13.
The name of this language is, in its own tongue, “one who hopes.” What is this artificial language invented in 1887 by Ludwig Zamenhof?

ANSWER: ESPERANTO
Third period (continued)

14.
A strike occurs when the workers refuse to show up for work, but what is the term called when management refuses to allow its workers onto its premises, such as what happened with the NBA in the 1998-99 season?

ANSWER: LOCKOUT
15.
Which French philosopher said that it was worthwhile to live life as if God existed, since you lost nothing by living a Godly life but could potentially lose everything by living an un-Godly life, thus naming a famous wager for himself?

ANSWER: Blaise PASCAL (Pascal’s Wager)

Spares

THIS IS A COMPUTATION QUESTION. A cylinder has a height of 20 and a volume of 300 PI. What is the radius of the cylinder?

ANSWER: SQUARE ROOT OF FIFTEEN 
What Jane Austin title character finds out at the end of the novel that she is in love with Mr. Knightley and was the inspiration for the movie Clueless?

ANSWER: EMMA
This relative of a more famous ruler was made ruler of the Two Sicilies in 1805 and added Naples to his resume in 1806. Two years later, he was transferred to become King of Spain, but after the French defeat at Vitoria in 1813, he returned to France. Who is this man, the oldest brother of Napoleon?

ANSWER: JOSEPH Bonaparte (prompt on Bonaparte)

Who is the current men’s basketball coach at the University of Virginia?

ANSWER: Pete GILLEN
A normal adult has 32 teeth; however, how many “baby” teeth will a normal child have?

ANSWER: 20
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